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1. The rationalising factor of (—2v47) =
4. . . i
(i) v47 (ii) v49 (iii) 47 (iv) v47 (v) v44

1

2. Rationalise the denominator of .
(—=2Vv2)

(i) (—-1\/2) (if) (—-1\/4) (i) (—-1\/1) (iv) (—-13'2) (v) (—-1)
i 4 i A iii e iv p v 5

1

3. Rationalise the denominator of . .
(vB8—=v7)

(i) (2v2+7) (i) (2Vv5+V7) (iii) (2V-1+v7) (iv) (2V2+V7) (v) (2vV2+V7)

1
4. Rationalise the denominator of .
(7v9-5v8)
0 19 N 10 v2) (i) ( 21 + 10 3.2.) (i) ( 23 N 10 v2) () ( 21 N 20 W) 21 N 10 v2)
i) (— +—— i) (—+—-v2) (iii) (=—+—— iv) (—+—) (V) (—+—
241 241 241 241 241 241 241 241 241 241
1
5. Rationalise the denominator of . . .
(V24+v3+vV5)

, 1 1 1 .. 1 1 . 1 1 17 1 .
() (+vV2+-v6—--v30) (i) (- V2+—-v3—---v30) (iii) (- Vv2+—-V3—---V30)
4 6 12 4 6 12 4 6 12

1 1
(iv) (Sv2+=>V3—
4 6

=

6. Rationalise the denominator of. . .
(-3v5-3v4-5vV3)

, 11 14 5 4. 5 11 _ 14 5 _ 5
(i) (m——=VB— e — V34— y15) (i) (m—VE— e — V34— y17)
358 179 1074 179 358 179 1074 179
11 _ 14 5 _ 5 11 _ 14 5 _ 5
(iii) (————VE—— —- V3+-—-VvI5) (iv) (———VB—— —- V3+-—-vI5)
358 181 1074 179 358 179 1074 179

11 _ 14 5 _ 5
(V) (————vV3— V3+-—-v15)

358 179 1074 179



1

7. Rationalisethedenominatorof. 3 3
(=v4—-v3)

, 23_ 13__ 9 23_ 13 13 23 13 15
(i) (—=V2+=VI2—2) (i) (m=V2+=V12—-=V9) (iii) (-=v2+=-VI2—=V9)
7 7 7 7 7 7 7 7 7

) 23_ 13 13 2 3. 13 13
(iv) (==v2+=Vv14—-—=-+v9) (v) (—=vV2+=Vv10—=+vV9)
7 7 7 7 7 7
(V7 —-v8)
8. Rationalise the denominator of - =
(V3—=v9)

, 1 1 1 ) 1 1 1 1 14 1
(i) (==V21+-vV6—=-VT+V5) (i) (—=v21+=-vV6—-V7+v2) (iii) (== Vv21+-Vv6——-VT+V2)
6 3 2 6 3 2 6 3 2

) 1 . 1 1 . . 1 . 1 . 14 .
(iv) (==V19+4+ - Vv6——-V7+v2) (v) (—==-V21+_-V6—-V7+V2)
6 3 2 6 3 2

(—4v2+2V3)
9. Rationalise the denominator of - =
(2v5+5v4)

) 1 14 1 1 N 1 1 14 1
(i) (=—=V10=—=V15—=-v2+—-v3) (i) (-=vV10=—=V15—-=V2+-+V3)
10 20 2 4 10 20 2 4

1 . 1 . 1 1 . ) 1 1 . 1 _ 1 .
(iii) (-=v10=—-V15—==-Vv2+-v6) (iv) (- -V10——-V15--V2+-+V3)
10 20 2 4 10 20 2 4

1 1 1 1
(v) ( VI——V15—-=-vV2+—-V3)
10 20 2 4
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